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Which number is missing
in this IQ puzzle ?

puzzle 2

Which number completes
the pattern ?

puzzle 3

Which option completes this pattern  ?

puzzle 1

Which number completes the puzzle ?

puzzle 4

A

B

C?

9 3 6

4 2 5

5 1 ?

6 365

3 5?
5 456

10
9 6

7

2
11 8

?

15
12 9

12
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Math in English

Answer to brain teasers

Brain  Teasers level 3  #9

puzzle 1 :    C
The number of shaded squares in each row adds up to 20.

puzzle 2 :    1
936 minus 425 equals 511

puzzle 3 :   37
The left and right digit plus 2 form the number in the middle.

puzzle 4 :    5
The difference between opposite numbers is 3 in each diamond.  
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